
 

 

Solution 

Clearly, Project E is not feasible, as NCFE0 = 21 > 20, so it can be eliminated from consideration.   The 

remaining 24 = 16 possible bundles are 

{A}, NCFA0 = 10 < 20, feasible. PWA = −10 + 2.870(P/A, 15%, 9) = $3.694 million.  

{B}, NCFB0 = 15 < 20, feasible. PWB = −15 + 2.930(P/A, 15%,9) = -$1.019 K < 0. (Eliminate B from 

consideration also as any bundle having B will be better off without B in it.)    

{C}, NCFC0 = 8 < 20, feasible. PWC = −8 + 2.680(P/A, 15%,9) = $4.788 million. 

{D}, NCFD0 = 6 < 20, feasible. PWD = −6 + 2.540(P/A, 15%,9) = $6.120 million. 

{A, C}, NCFAAC0 = 10 + 8 = 18 < 20, feasible. PWAC = 3.694 + 4.788 = $8.482 million. 

{A, D}, NCFAAD0 = 10 + 6 = 16 < 20, feasible. PWAD = 3.694 + 6.120 = $9.814 million. 

{C, D},  NCFACD0 = 8 + 6 = 14 < 20, feasible. PWCD = 4.788 + 6.120 = $10.908 million. 

{A, C, D}, NCFAACD0 = 10+ 8 + 6 = 24 > 20, infeasible. 

Ф, choose nothing, PWФ = 0. 

Optimal solution: {C, D}.  

Reviewer
Highlight


